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Halloween Multiplication

Solve the following word problems.

A halloween store sold 345 costumes at $34 each.
How much money did the store make from selling
the costumes?

A farmer harvested 345 pumpkins for halloween.
He sold each pumpkin for 12 dollars. How much
money did he make?

A bag of halloween candy contains 112 candies. If
45 children each receive one bag, how many
candies are given out in total?

A haunted house attraction sold 234 tickets each
for 18 dollars. How much money did they make?

A halloween party has 345 guests. Each guest
receives 23 spooky treats. How many treats are
given out in total?

A pumpkin patch has 456 pumpkins. Each pumpkin
weighs 34 pounds. How much do all the pumpkins
weigh together?

A halloween costume store sells 123 costumes at
$45 each. How much money does the store make
from selling costumes?

A halloween baker made 123 pie hampers and sold
each for 20 dollars. How much money did he
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